ansgrohe

ZHIIAES)| WAk S 2
[N Instructions for use / Assembly instructions 3

Vivenis
75420XX7

Tecturis E
73420007



3

=

Ry

G R B
n

AN EPEIN sl S B TEANDD 0152 0, AR BT
A ARV N UL, TAERI 5 2 .

wEREE (e B

AN B BRI K 19 FE 1206750 F L T4 O@q HINEM (ZWHH 1)
XX = Bt
o EALFTLAG A P R TR 2 BS . LS 00 = 4k

BEA T o] 12 Ky 40 3 ol 3w 4. 67 = Matt Black
. %?gi%uﬁﬂr]u%ﬂﬁﬂiﬂ%ﬁifﬁbﬁ#ﬁﬂfffzz%%,n#%%%n 70 = Matt White

Kt FEIE (% LA T
o R I LA, Senl i S R ]
Fo, BiE (2000 DD
TAEER: Bk 1 MPa
HEFE TAE ok 0,1-0,5 MPa
ik e 5 1,6 MPa

{1 MPa = 10 bar = 147 PSI)
POk Rk 60°C
LMY iR 150412 mm
FEELS G 1/2: ERAE
I 70°C / 4 14
o BB 1L
o 7 B K BT
555
WO S A R RE R
A W LRl
POKIR I JRAY. ISAE R RIBE Sk, MR g2
SLPOKIR .
[1) j8 Ji e
Jo 3% K & - AR AR, NS - K AR, M B
oA R - BSIR, S RS
Jo K - R EEEATES
PUKIR L, BA K. BEHE - IR R it B AR - BEE T R
K, Bk B iash
IR PRI A TAE - L UE A b W b g - ¥ 1 ek B /o d ek B
- HL R RE - T 23 B i

- TR R BRI S B0 KB - RBRULE R



English

T

Safety Notes

A\ Gloves should be worn during installation to prevent
crushing and cutting injuries.

A\ The product may only be used for bathing, hygienic
and body cleaning purposes.

/A The hot and cold supplies must be of equal pressures.

Installation Instructions

Prior to installation, inspect the product for transport
damages. After it has been installed, no transport or
surface damage will be honoured.

The pipes and the fixture must be installed, flushed
and tested as per the applicable standards.

The plumbing codes applicable in the respective
countries must be observed.

Technical Data

Operating pressure: max. 1 MPa
Recommended operating pressure: 0,1-0,5 MPa
Test pressure: 1,6 MPa
(1 MPa = 10 bar = 147 PSI)
Hot water temperature: max. 60°C
Centre distance: 150+12 mm
Connections G 1/2: cold right - hot left
Thermal disinfection: 70°C / 4 min

* Safety against backflow
* The product is exclusively designed for drinking
water!

Symbol description

( Do not use silicone containing acetic acid!

m Adjustment (see page ﬂ)

To adjust the hot water limiter. Using a hot water limiter in
combination with a continuous flow water heater is not
recommended.

[%M\ Dimensions (see page fi)

Flow diagram (see page fl)

%® Spare parts (see page [d)

XX = Colors

00 = Chrome Plated
67 = Matt Black

70 = Matt White

@ Cleaning (see page [)
@\ Operation (see page E)

Fault Cause Remedy

Insufficient water - Aerator calcified, dirty - Clean aerator, replace as necessary
Mixer stiff - Cartridge defective, calcified - Exchange cartridge

Mixer dripping - Cartridge defective - Exchange cartridge

Hot water temperature too low, no
cold water. Instantaneous water
heater starts up when cold water is
selected.

- Hot water limiter incorrectly set

- Set hot water limiter

Instantaneous heater didn’t work - Filters are dirty

- Clean the filter / exchange filter

- check valve hasn't moved back

- Exchange check valves

- Flow limiter in handshower isn't

removed

Assembly (see page ) ==

- Remove flow limiter



=

i .

4 ’:00%002
A\TET 3501
=) Silicone) = 33§¢ N
7










43°C 50°C

SW 2,5 mm
(3,5 Nm)




W

Vivenis
75420XX7
15-23 —
Ay ?
E 4 0
Q T © \ N
v o 3 v
- aJ G 1/2 \
O |6 '
\443J -0
216 ———»|
223

+12

ﬁilso-

¢ 306——— >

=L

]

N

AJ -
e

Vivenis
75420XX7

0,60

0,55

0,50
0,45

0,40
0,35

0,30

MPa

0,25
0,20

0,15
V..

0,10
' L

0,05 +—

L_L_ ‘.\\...\

0,00

Q=I/mn0 3 6 9
Q-=1/sec O 0,1 0,2

8

0,3

r 5.0

6,0
5,5

45
4,0
3,5
3,0
2,5
2,0
15
10
0,5
0,0

12 15 18 21 24 27 30

0,4 0,5



Tecturis E
73420007

Z*QW—[
|
A

>

\
N “of &

™
= e}
PRI

— 213 ———P
221 ———P

G 1/2%& .

332
306 —— P

’Hlsot]2ﬂ
A A

:[ | — '\‘
LY

A
.
"] ]
Ny
N

<« 71 P

o
G 1/2 L
Tecturis E
73420007
0,60 6,0
0,55 4’ / 55
0,50 7 50
0,45 ] /3 45
0,40 i 40
, 035 / 3,5
S 030 my 30 8
025 2,5
0,20 Vilwi 2,0
015 11/ 15
o10+—p/ : 1,0
00514 : : 0,5
0,00 0,0
Q=l/min0 & 12 18 24 30 36 42 48
Q=1/sec 0 02 04 0,6 038



‘@q

Vivenis

75420XX7 94375XX0

94370XX0
957720000 \§ %
{ § '(22 94365%XX0 N ii;i
. J
% 9837160 % -
(29x3) @

98137000
(17x1,5)
94368000 N

94367000 &)\ %\ @
SW 18
"""B / 6 92118000 | 98129000 93916000
98430000 1\ (15,1,5) | (14x2)

(12x1,5)

] 98446000
93995000 (M5x5)
(M37x1,5) SW 2,5 mm
SW 30 mm

93895000

(M3x12)
@SW 1,5 mm

94366000

04360XK0L 097767000  (M6x8)  95392XXO
(M4x6) SW 3 mm
SW 2 mm

10



‘@q

Tecturis E
73420007

957720000
87116000

98371000

( ” @
(29x3) Q /

98137000 o °
(17x1.5) 94368000

94367000 ﬂ
SW 18 mm N g

@ 92118000 (14x2)
(15x1,5)
® 98430000 94366000 96044000
(12x1,5)
9436900057 > (sh\;\\/é)3(8n)q )
(M4x6)
SW 2 mm

%QQQOOO @

?g 87123460

(SW 2 mm)

87115000

94370000
93895000 Q @%

98446000

% O (M5x5)
R 93995000 °W 2o mm
(M37x1,5)

SW 30 mm



& b

DU HE 7 it IS 15 i wEBY

I‘j‘_.ﬁﬂ']]l?ﬁiz%, H%jﬁ%, ﬂﬁm, mﬁ:’ %%A, {ﬁ ?E%, &kﬂ(, ﬂk(ﬁn@, g@k?ﬂj, %7& ﬂﬁﬂﬂ(, }Eﬁﬁ
AT R AR 5%, DUk MR RA RERsis.
SN R DR T ok bAb: 5 e BN F T ACKS AR B ot 5t
G R B R 2 2, i REAET= R T AR RO A2 2515,
ﬁémﬁgﬁﬁgﬁgﬁgiﬁgﬁ P 2 ;ggﬁm%&@ﬁ%ﬁ%@¢@%ﬁﬁ%¢%ﬁ
AEBRIEUUGREAR = oo, S ERARVERE: ey s e AR S 250 2 R
PR TR A W S T A ST A B,
Wi 2 K B A, 7502

o NSV & A IR, WORR, SIS R 1 7 1 PifgfaR:.
70, PRI A3k R TR S 7 i 22 TS ™ T 48

. g'@é@m T —— TR B 0T 0 T 3 1 AT B A A 24 77
N (=)} \V R H 3
o RS VPRI L 7 I A RGN
o RACVFA AT BRESE T T AR, LR
it & IR, 4 ol R 2 42 A, Hansgrohe [ J1] P {R3F, 17~ i TG lits SeRe. AN
o PR T T AV TR 0 . FIHASE 2 HR T 4R HBLER K, Hansgrohe 4 %%

o FURGESEI I A R AE R, AR R ﬁu‘E%ﬁfm# T
T T A S TR T B W hansgrone t.comyguaraneq £ H {15 AL
o € BRI 17 DATIRA K 5. GRS HIT: AR UE AR R AT S ARk
o R FRVPRE I ) B B DU A, B R T A
SR 35 2% 1k N DUYTAS ™ i 6 T R R4 B
L R T G 7  OM E = | L B o 7 T R 19

AT AT
o G Z 5 LIRSS IR K h T, DI & BRsk
F FI R 690 (335 ).

o ARVFHETZRITR L Sl 280%™ 5.

12


http://www.hansgrohe-int.com/guarantee

English M

* After cleaning rinse thoroughly with clean water to
remove any cleaner residue.
* The use of steam cleaners is not permitted. The high

Cleaning Recommendation for Hans-

grohe Products

Today, modern sanitary and kitchen tapware, showers, temperatures can damage the products.

accessories, washstands, tubs and radiators consist of Important

very different materials to comply with the needs of the Residues of toiletries such as liquid soaps, shampoos and
market with regard to design and functionality. shower gels, hair dyes, perfumes, aftershave and nail

To avoid damage and reclamations, it is necessary to varnish can also cause damage.

consider certain criteria when cleaning. Here too: Carefully rinse with water after use to remove
With regard to caring for the Hans- residues.

grohe products, the following must in Likewise, do not store any cleaning agents or chemicals

under the products, for example in a vanity unit, as the
vapours may damage the products.

principle be heeded:

Only use cleaning material which is explicitly
provided for this type of application.

Never use cleaning materials, which contain
hydrochloric acid, formic acid, chlorine pale lye or
acetic acid, as they cause considerable damage.
Phosphorus acidic cleaners are only conditionally

The damage of already damaged surfaces will

deteriorate under the effect of the cleansers.
Components with damaged surfaces
must be exchanged, otherwise there
could be an injury danger.

Damage caused by improper treatment will not be

applicable.
* Mixing cleaning agents is not permitted, generally. covered by our guarantee.
* Never use cleaning materials or appliances with an Warranty

abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.
The instructions of the cleaning agent manufacturers

Hansgrohe guarantees to the consumer that this product
is free of production faults. If evertheless any defect is
detected within 5 years from date of purchase, Hans-
have fo be followed absolutely. grohe will remedy this defect free of charge. You will find

Cleaning has to be corrie.d out Wffh a specified the conditions and details of this guarantee at

cleaner dosage, contact time, object-related and Fewhansgronemrcom/qoaranted. Please contact your
cdcpfe'd 'fo the needs. o contracting party to claim your rights under this

The building up of calcifications has to be removed by guarantee. This guarantee does not affect the customer’s

cleaning .regu|ary. ) rights under the respective national legislation.
When using spray cleaners, spray the cleaning

solution onto a soft cloth or sponge, never directly
onfo the Hansgrohe products, as the atomised spray
could enter openings and gaps in the Hansgrohe
products and cause damage.

13


http://www.hansgrohe-int.com/guarantee

It / open

14



15



Hansgrohe - AvestraBle 5 - 9 - D-77761 Schiltach - Telefon +49 (0) 78 36/51-1282 - Telefax +49 (0) 7836/511440
E-Mail: info@hansgrohe.com - Internet: www.hansgrohe.com

11/2023
9.07884.51



	中文
	English

